A

Parts Catalog - Option Detail

Online

Option Group Graphic Film Card Date
BP1224 07.06 Ip100gn F 15-DEC-92
Engines ||NH/NT 855, NT495, NT743, NTA855 N106

SMALL | MEDIUM | LARGE

View My Cart
BP1224 Lubricating Oil Pump
Lube Oil Pump
3077770 Lubricating Oil Pump
145504 O-Ring Seal



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('lp100gn','/rtgraphics/english/parts/lp/1/lp100gn_sm.png');
javascript:swap_img('lp100gn','/rtgraphics/english/parts/lp/1/lp100gn_md.png');
javascript:swap_img('lp100gn','/rtgraphics/english/parts/lp/1/lp100gn_lg.png');

2 146161 Plain Washer 3/8 in.
3 204048 Cover Plate
4 3558515 Hydraulic Pump Gasket
5 3010146 Compression Spring
6 3010595 Captive Washer Cap Screw 3/8-16 X 1in.
7 3884126 Pressure Regulator Plunger
8 3012726 Retainer Plug
9 3014778 Lubricating Oil Pump Cover Gasket
3068461 Lubricating Oil Pump Cover
10 3068459 Lubricating Oil Pump Cover
11 69521 Bushing
12 3022589 Captive Washer Cap Screw 5/16 - 18 X 5/8 in.
13 3022590 Captive Washer Cap Screw 5/16 - 18 x 1 inch
3045194 Lubricating Oil Pumping Gear
14 3045193 Lubricating Oil Pumping Gear
15 68365 Bushing
3821571 Lubricating Oil Pump
16 179063 Retainer Plug
17 183695 Plain Woodruff Key
18 204832 Lubricating Oil Pump Gear
19 3012531 Idler Shaft
20 3012532 Lubricating Oil Pump Drive Shaft
21 3014754 Plain Washer 3/4 inch
22 3014755 Valve Disc
23 3014756 Compression Spring
24 3045192 Lubricating Oil Pumping Gear
3821570 Lubricating Oil Pump Body
25 3821569 Lubricating Oil Pump Body
11 69521 Bushing
26 S142 A Hexagon Head Cap Screw 7/16 - 20 x 4 1/2 inch




27 3067613 Lubricating Oil Pump Gasket
28 3034526 Captive Washer Cap Screw 7/16 - 20 x 1 3/4 inch
29 3044851 Pressure Sensing Tube
30 3044854 Plain Adapter Elbow
3065118 Plain Adapter Elbow



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

